yd-Gza wafs Brag R udlan (401-5), 4 - 2021 |

K 0155 A61R K3
FOROFOK “e OFOFOK
K K33
K K33

SEE | Quadenr - HIEAH; 9\6f Adl awa: 11:00 90 12:30 | *REF
el 32 UAH 8L B A [B1A 54.9991: 150 )

UALAL AL BUUAL USAL 1A U] YAALBI EALAYds Al :

(1) usuaA ol GPIME ACARY 9. SL-T Hi UAH @l 1 2l 25 Usl 9 2id SR A AWLAAL
26 @l 75 UL 9. dHIM 75 Uzl Rlovaud 9.

(2) AHIH UB-AL €251 6L QL 8,

(3) uAUA G5ddl HI2 90 A2l UHu 9.

(4) oraloil difdl HI2 440! GiRAd]l 2iud]l 9. 25 UsHi AR [Aseul viw 8. d Ladyds Qi 1=l
[Aseu yzig s3]d BEleRRL Hovol adad yeiugl 2a1aid 9.
G162 dl5:i- o4 WA o 6 HI2 AL [Aseu 2 ¢lu dl 12 uHl dsdl «is s,

widez 6- O@B @

(5) »ied 15URL USIR BUEL o7alold LaldH] dgl Al A1l ordlor HIZ Qe 2001 LAYAIHE VA9,

(6) adn 2141 Hi2 dlgoil vl s1oll olididdl Guaiol s2dl. Uleuadl Q121 5241 adaedl 291 GHRIEL el
(7) o4 visdl 9y adn 2oul ¢g 21adlL 950915 s34 oralol il ¢ dl d AleL BRAML 2199 <l

(8) is auid svalol «itll £lan usl otedl asigl €l
(10

UHYAHL €25 ULl <12 2] ovouHl 24241 9eal id 513 5IH 534,
10) ulattedl AUHA HUilEd 69, 04 dH sie) ust AL Gal asl dl, sul <0 usdldl us Godl. o 9ed UHAU
o1 dl G5l IRAL WAL Ghaaldl 53] U 5L,

(11) 04 M« 515 U2 24430 219l QA AL ABL dl, [[4=]81s 21991 Sen d1ds WA Yeouze s2dl el
(12) 515 e /vudl/qitl ¢l dl, aar >l Hidl-fdr odis udan skl 29 ulal sibsEld
21229 Hisdl Asl 8l 21 d/vuHl /Al Hist Hoilfd 25a<dl didild g121 2iidaldd digadl
(13) ®gat/vudl /4t MSCE «l dotisie Uz dleyzdl 2ildH Gy ulzies 21 uesl 10 [Eaumi sliddisdq

Alf9al.
(14) HoQIEM 2441 Ve SIRGUAR UHHL QA 8 BIH QU dl doval AlMdldl A0 Horor diw
stdal€l s 24199,
(15) 4O HILAH A1 21U HIEAHAL UHUBISL 2AUE] €2, HO HILAHHL o AHOML Adl UL HI2 1A
YAIHL 049,
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- SECTION - 1
X Io¢el

X u: 01 4l 03 : W2 Yl :-
""" dlael aavis ail suudl usidl Gzl qivd uaid sHis WAl
ok VUG Al wadAssldl 54 18 Gowesl 9, /il 46 odd<di Hisdl oldid 9,

SO Hisd UM aMdl 250 [sdidieal Higld 2.5 #Wandlz eldl ¢l 9. uaqdussl sedl
FHEK dloveil Ugl 2 A 1) givadidl Gl dar 2) uilnadl dousS »iM yuu ol olledl
Wovadel 9. diedl od GRL d uadussld Ay oasdl uaddl M oL w4

W 2G2y2 atl oau.
uadssldl €25 uilvdl dousd wi dlovolldl 2uB2y2d @dd, olley w1
Wy 9. etk of Holld 19000 Houdeedl #HAl Rladl uadusslbl 9. i

Aol sl0U 3147 WAz 9. ofloa i85 Asand vieell sl wald 520 <zl

01.  2UuQl Al uaqussldl Geulesl sd 526l odddl Hisdl oteld 97
(1) 18 (2) 24
3) 38 (4) 46

02.  Hisd UHIQL &AL seaEl deal Houdle yHldl ¢l 97
(1) 150 [sciaiedl widld 2.0 Hauale
(2) 200 [s«iqied] widld 2.5 woudale
(3) 250 [saliqiedl widld 2.5 Houale
(4) 300 [saiqiedl widld 3.0 Haudle

03. [y’ xR afvisHi sl wuiEl 2o qul 97
(1) ad (2)  &Hdl
(3) dlovil @) wla

SPACE FOR ROUGH WORK
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u: 04 4l 06 : W2 YAl :-

04.

0s.

06.

07.

NN Y

dlddl oadauad fadauds [Adagr 520 sid ddl Uz suARA Uil Grrdl uix
CUIDRENEYR

AAElA... AvsEld !
Wil ugl vl Aoz v

>

I Hed ugl ugl ool odefal, ofloadl wadd

glve oA,
‘Dliw’ A6 U2 GASRIAML sdl dHIAE] ot quRil €97
(1) <A 2) 3
(3) €ld (4) ol

‘ov e’ og HIZ Ul (A4l 2oe oASAAML UL 97

(1) sl (2) 4
(3) ale (4) €ld

oflogdl 2add Al dli g 2udl asa?
(1) «Agid sl (2) A% g4 sl
(3) oL saEl 4) Yoy =al

‘Yigsl” Ul [Qgmadl i yuia ikl
(1) dlal 2) dldl
3) dlai @ dl4

SPACE FOR ROUGH WORK
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08, AlRdl sl S0 2O

X dd Hiel 4dd 9 otdul?

oK (1) ALl (2)  dAdHid sl
""" (3) ®dsia 4)  ®lasasia

PO 09, oAl AisumiEl Gl 2ilavil,

R N N
ol sdidl Hasd R 9.
(1) il (2) gdidl
(3) HEsrd 4) 9.

10.  dlRcmigl 2dl@a caladl aoe A0,
(1) °ux (2) @R
(3)  ual 4) RS

11, 20dal wdiHiEl 21 oadl il
(1) Hv{l-wvil=il (2)  AoE-UoEl
(3)  HIQIA-HIQLL 4)  [ne-[rzail

SPACE FOR ROUGH WORK
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w: 12 4l 14 : W2 yad - Hokik

X
dlddl e faqayds Al suddl usidl Gazdi dicn uulusnis M. %

sildd @ olel, ol wi old 3w edl 2 87 Lo

EIEl o oHRL elaHiEl s 3 udl ar? R

glel po(2lsem Al ud ©9)) R, wL g? 000
Gocueil : o, oy, wifsa Al oedl <3 viear el ovdl 2B B dl ks
tRclsudl sl 9. FERE
vldsd 0 ugl Grdlsu wied 97
Wl po(oeREAl 2ar4l) uddl 1A ud, usl uueadla
(ol o «ld viedl Heldui udl oA 9. HslAHI Wdl @AM o8l
o <AlA eldl il ©9.)
vifasd o wR [MER, dd vier © 5 Adliu vied g7
Mlez ¢ e, tkdl 942 G2 »i2d 9dliu 2l séart. dqiEl Hiel izl 21,
Hsld oY o ¢ddl WL sFAR dl ordldzizd uQl 4 oqu,

~

12 daE 24l disidl aza gdl 97
(1) AR disi (2) 9 disl
(3) Ui disi (4)  Ad disl

13, Haledi 59 a2l odl 97
(1) =0 Rl (2)  #Rdlsudl wtinst qradl
() AR 2uaadl 4)  HRHEl gl

14.  [Qoruels ot s4i ovdl €lol w58 97
(1) 2SI () wPulHi
(3)  ®ualoa (4)  vedl HeldH

SPACE FOR ROUGH WORK
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N

C 15, wdleyte [Aseu ude s3] s yel s
X selssl sisdl aud
(1) Gladi susi o ugral (2)  YARIG susi oy udral

ﬁy (3) a4l susi oy uerai (4)  HuHadl susi o7 udal

AR 16, ‘UGl wui Susr«d] ool slaael o Avdl odsul wtal aisaul lilsa sRai

BSOS 208 HI2 sl 9oRldl gt dluRall,

HREK (1)  2ibaums 2) w52
(3) vz (4)  Ra«s1é

17. 2184l 28 galadl séad ualauial il
— oydl Alold ddl AR
(1) o9 U dd Rl 2) ovdl ula adl ala

NN

(3) o4l A Adl <l 4) 6\\(3' SIEN (313 SIMEQ

18.  vidl AssML Ul 2ER AURAlL GlMl vid 2Ugl 2dYQl 208 AQur 29 ?

1 | U W

Al

4q

]
(1 [ 2) [¥
3) & 4 [e

-~

19.  20EuYe Hdl Ui ot wuiuMidl sl
g2 Hled w2 ydl uwbs —
(1) zlas 2)  wlas
(3) s @) alis

SPACE FOR ROUGH WORK
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20.

21.

22,

23.

24,

25.

Al il el wd dudl sl A oddl ikl
(1) sld-well 2) [Rie-oiig
(3) disi-ogl 4 Puu-aHL (si3)

‘Gl Gladl qual el 9. Bl G Bl g sul v e Qw9 d
uufuHidl el

(1) [Bua ) apwil

(3) =® 4)  dicwd

dlRidl oeHidl 04%U0e o Sl ddl udl B,
(1) 2R@aRr ()  aElae

(3) »uedaue (4)  >ugueasa

A3 2udl uyeeds Aot HIZ Ul udikL Al

dledl
(1) 2@l () ®RI
3) 9u 4) 3l

Ul 2eR oAdld wiEyel e ol

Al o7 gogel walld M QuR "L 9 A Uosdl vuld Al
1) 5 dl 2 s o<l
(3) ¥ A4l 4 =2l

‘14 qdoR’ 2uel sdl fau ay Gordlul ¢lui? diod yuid il
(1) [2asled 2) Hlealeq
(3) oualzd 4)  oulasilzd

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

SECTION - II
MATHEMATICS

How will you write 500 in Roman numerals?

(1
3)

L 2) C
D 4 M

What is the place value of ‘4’ in 10.345?

(1)
3)

0.004 (2) 40
400 4) 0.04

If [ 12575 — [ ]836 = 28739, then which digit will be in the box?

(1
3)

2 2) 3
5 4) 6

If the lengths of the sides of an angle are increased, then how does it affect the

measure of the angle?

(1)
)
3)
4

measure of the angle increases
measure of the angle decreases
measure of the angle remains the same

measure of the angle is doubled

SPACE FOR ROUGH WORK
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X
SECTION - II %

ala

26. 500 24l Hvul u«dl@ulai 3dl dd awal? OO0

(1) L 2) C SRR

3) D 4 M OO0

27.  10.345 »u AvaMl 4 «dl 2aldas Gua sedl?
(1) 0.004 (2) 40
(3) 400 4)  0.04

28. oA | ]2575 - [ ] 836 = 28739 di [ | l oromm sl wis 2pa9?
(1 2 2 3
3) 5 4) 6

29.  wuldl Soaniid donqqidl ddl viRudAl HIYHE Al RS ud 97
(1) veld i 98 9.
(2) VRl HIY 2 .
(3) uNlld, MU d2d oy 8 9.
(4) VRl HIY oAHYL A 9,

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

34.

3 4
57+67—|:]
7 7
(I 1y @ 1,y
G) 12 @

Write the number in figures,

‘Eight abja eighty thousand eight hundred and eight’.

(1) 8,08,00,808 (2) 8,00,80,808
(3) 80,00,80,808 (4) 8,00,00,80,808

Length of the radius of a circle is 2.5cm and length of a chord of the circle is

3cm. What is the length of the longest chord of the circle in cm?
(1) 6 2 5
3) 3 4) 5.5

How many composite numbers lie between 1 to 100?
(1) 75 (2) 25
(3) 24 4) 74

What type of angle will be formed, if two lines are perpendicular to each other?

(1) obtuse (2) right
(3) acute (4) reflex angle

SPACE FOR ROUGH WORK
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3 4 ~
—_— — = S ? b
30. 57+67 524l ! '>1<

7 /A
(1) 1oy @) gy Bk

3) 12 4) — 00

31, ‘U8 wiolsy Bl MR BUSHL 28T Bl Hvul BiSHL Qv FIRoK
(1) 8,08,00,808 (2) 8,00,80,808
(3) 80,00,80,808 (4)  8,00,00,80,808

32.  adodl Bean 2.5 ddl sid @Al 3 dHl 9. 0 adadl didl HiZl wadl dous
sodl il wudl?
(1) 6 2) 5
(3) 3 4) 55

33. 1 @l 100 eldl vl wysa wva s2dl?
(1) 75 (2) 25
(3) 24 4) 74
34, ol W dol ¢ld ddl il 422 sdl USRAL WO od 97
(1) 243519 (2)  seslgl
(3) 4gsivl @) [QuRasial

SPACE FOR ROUGH WORK
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3S.

36.

37.

38.

39.

If the numbers 32996, 39296, 229997, 39096 are written in descending order,
then what will be the sum of the first and third number in that arrangement?
(1) 269093 (2) 72292

(3) 269293 (4) 262993

If the circumference of a circle - shaped garden is 88m and Swara takes 5 rounds
to the garden daily; Then how much distance does she cover in a week?

(1) 3080 km (2) 380 km

(3) 3.08 km (4) 3.8 km

By how much is the sum of biggest 5-digit number and biggest 2-digit number
is greater than the smallest 3-digit number?

(1) 1,00,098 (2) 99,998

(3) 99,999 (4) 1,00,198

Pradeep bought a mobile for Rs. twenty two and a half thousand and sold the
same for Rs. nineteen thousand eight hundred and seventy. How much was his

loss?
(1) Rs. 2880 (2) Rs. 2600
(3) Rs. 2630 (4) Rs. 3000
4 4 4 4 4 4
—+ -+ =
3 3 3 3 3 3 L
24 20
M @ 5
24
G 5 (4) 8

SPACE FOR ROUGH WORK
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3S.

36.

37.

38.

39.

32996, 39296, 229997, 39096 il AvAlbAl GaAzdl sHHI dvil sl didl uuH
v qdld dvaidl w0l sedl?

(1) 269093 2) 72292

(3) 269293 (4) 262993

88 dl. uRa €l da adousk ol Rd A Ay S B2l HR 9 dl wis
visallemi d seal [(sHl = 97

(1) 3080 (sl (2) 380 [s4l

(3) 3.08 [l 4) 3.8 [sdl

Al HZl 5 25l wd Al Wil 2 2isl dvaidl 2R, Al Al 3 2isl v
2l sedl AaR 97

(1) 100098 2) 99998

(3) 99999 4) 100198

uelu sl oudla ¢onz 3l dlidl Hiousda vioglu ez 2isul dldz 3Mumi
d2ul, dl 2l MASRHL dd seal 3[ual viiz o?

(1) % 2880 @) % 2600
3) T 2630 4) % 3000
4 4 4 4 4 4 .
4 04 4 4 4 4 9
3y T3ty Ty ty g T oA

24 20
1 @ 2

24
@ 2 @ 8

SPACE FOR ROUGH WORK
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40.

41.

42.

43.

Swarda deposited Rs. 25,000 in a bank at a rate of 8 p.c.p.a for 6 years. How

much interest will she receive after 6 years?

(1) Rs. 12,000 (2) Rs. 2,000
(3) Rs. 1,500 (4) Rs. 1,200
: 75 28 . . .
If the fractions, 9°9°9° 9 are arranged in ascending order, then what will be
the sum of first and third fraction in that arrangement?
14

(1 1 @) 5

14 5
G o @) g

While writing the number, ‘Seventy lakhs and Seven’ in figures, Ishwari wrote
one zero less between the two sevens. Then by how much is the number that
Ishwari wrote is more or less than the given number?

(1) more by 77,00,014 (2) less by 77,00,014

(3) more by 63,00,000 (4) less by 63,00,000

Which is the biggest fraction among the following?

n @ o
8
3 o000 ) 10,000

SPACE FOR ROUGH WORK
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40.

41.

42.

43.

RREDL €. A € W 8 Al €2 3. 25000 4Gl a<ls 6 Aad M2 WAl dl 6 Aud
vid dd 524 A Ay HaA?

(1) 12000 3. (2) 2000 3.
(3) 1500 3. (4) 1200 3.
;, 3, é,g A A2l SHHL sl ugl M W Hloa 58 wiadl dvaidl ARdlo0
sedl?
14

1 1 2 5

14 5
3) o @) g

Alaz A i’ 20 dval auaiml Saddsl oled dlddl aUHL Bl ged 1Y
dquid, dl dgl avidl wval, wiudl dval sl seaEl quR 3 wligl 97

(1) 77,00,014 €l qaiR (2)  77,00,014 &l il

(3)  63,00,000 4l auR (4)  63,00,000 ®l =19l

Al Ul Al Wil wyels sul?

8 8
(1) 10 (2) 100
8
3 To00 “) 10,000

SPACE FOR ROUGH WORK
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Tk 44 Xy y oz

3 + x z z Yy

FOROFOK y.y oyy

oK
RO Which digits will be there for x, y and z respectively?

SRR (1) 4,3,0 2) 2, 4,2

ORIk 3) 3,6,2 4 4,80
45. In a transaction, the cost price is Rs. thirty two hundred and eighty and the selling
price is Rs. thirty four hundred and seventy. Find out whether the transaction
had profit or loss and by how much?
(1) Profit of Rs. 180 (2) Loss of Rs. 190
(3) Profit of Rs. 190 (4) Loss of Rs. 170

46. Which of the following diagram represents the fraction 12,

60 -
(D 2)
3) “
47. Find the alternative which does not fall in the group.
(1) 7x7=+7x5=235 2 12-3-5+10=14
3) 5x3+4x2=170 4 10-2x3+5=9

SPACE FOR ROUGH WORK

0401 / Gujarati Set-A 16 of 32 Contd...




44. X y y z

+ x z z Yy

y yyy SRRk
Vi GEIGRQML x, y, z <l ovoul viqsH Ul vis 1997 o

(1) 4, 3,0 Q) 2, 4,2 Ekokok
(3) 3,6 2 4) 4,8, 0 3800

-

45, Copdluzl wigl 3’ vidle BHA wid Abluul dldR 3ua’ duer BHd €l dl

-~

L UYERHL gl 2l 5 vl A7 sedl 3[ua?

(1) 180 3. «sl (2) 190 3. wii2
(3) 190 3. sl 4) 170 3. wii2
46. <Al Usl 55 2u8q % VL 2AYRUsAL dHHEL 2Yulls gald 97
(1) )
3) 4)

47.  UYEHL < old ddl ual sul?
() 7x7=7x5=35 (2) 12-3-5+10= 14
(3) 5x3+4x2=70 4 10-2x3+5=09

SPACE FOR ROUGH WORK

0401 / Gujarati Set-A 17 of 32 P.T.O.



50.

S1.

Roshni started her studies at half past eleven in the morning and finished at
quarter to two. For how much time did she study?
(1) 3 hours 70 minutes (2) 2 hours 45 minutes

(3) 2 hours 15 minutes (4) 2 hours 30 minutes

What is the difference between the biggest 3-digit even number and the biggest
2-digit prime number?

(1) 900 (2) 901

(3) 902 (4) 903

One of the Zilla Parishad schools have 60% girls out of 120 and a private
secondary school of the same village has 55% girls out of 200. Find out the
total number of girls in that village going to school?

(1) 172 (2) 38

(3) 182 4) 110

What number should be subtracted from six and three quarters thousand to get
the biggest two digit number ?

(1) 6751 (2) 6651

(3) 7026 4) 7126

SPACE FOR ROUGH WORK
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~ 2 ~ S N a2 ~ ~ N a >
48. Al AR ;WL 2ALMR A v Rl 68l Bd ouiR w6 aPl Gl Al

AVl 54 52dl sdls AU sUl?

(1) 3 sas 70 [l (2) 2 sdis 45 Ml SR

(3) 2 sais 15 [l 4 2 sas 30 W« }3@}1{

49.  Hi2mi HEZl A9 isl vl wid 2wl HEZL o 2isl Yo vl addl 25 Bk
sedl?
(1) 900 (2) 901
(3) 902 4) 903

50. [orecl ulRmedl »is uousi 120 Higl 60% 9islaAl 9. d o UMl viqll Mt

~ ~

auouMi 200 Hidl 55% i@l 9 dl oted wouedl Holld o Sedl ©islpil wonmi

£ 7
(1) 172 (2) 38
(3) 182 4) 110

51 “wlQn Auld €0’ uidl 59 dval og seauEl, wieml wigl o »igl dval ag?
(1) 6751 (2) 6651
(3) 7026 4) 7126

SPACE FOR ROUGH WORK
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53.

54.

5S.

56.

Julie collected Rs. 10 daily in her money bank from 12th May to 26th June. Also
she added Rs. 100 given by her uncle and Rs. 240 given by her father to buy
a cake for her birthday. She donated the total amount to Chief Minister Relief
Fund. How much money did she donate to the Chief Minister Relief Fund?

(1) Rs. 790 (2) Rs. 350

(3) Rs. 800 (4) Rs. 780

Jeevan went to a bank with two notes of each Rs. 50, Rs. 100 and Rs. 500. He
asked for notes of Rs. 20 in return. How many notes of Rs. 20 will he receive?
(1) 60 (2) 65
(3) 55 4) 63

Find such a number which when multiplied by itself the product we get is equal
to the product of all the divisors of 27.

(1) 529 2) 27

3 9 4) 18

Solve : 27 =3 + 6 x 5 =79

(1 75 2) 15
(3) 39 @ 27

Dhanesh bought one and a quarter meter of cloth for pants and one and three
quarters meter of cloth for shirt. How much meter of cloth did he buy?

(1) three (2) three and a quarter

(3) two and a half (4) three and three quarters

SPACE FOR ROUGH WORK
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52.

53.

54.

5S.

56.

oyellad 12 H el 26 oyl el uedlolsui syl 10 3. UHIGL orHL sl 2sH, HIML
Azgedl oredlequedl Gladl 100 3. Bt wwwl 55 HI2 2AUAL 240 3. v ol 2sH
Yool erdl [@almi 2andl €ldl. dlooyalsl sd Ssedr 3 Yool Uil
[qeilui 2w ?

(1) 790 3. (2) 350 3.

(3) 800 3. 4) 780 3.

2ad 50 3, 100 3, 24 500 3 2 €25 UsRel ol ARl 2l cisui vl 24
adl ogd 20 3. <l uqull il |kl dlodd 20 3.0 €l sedl dizl waa?

(1) 60 (2) 65

(3) 55 4) 63

widl wvdl Al ¥ dovad A oo wvul 9d ol Hadl dusR, Bl 27 <l
ofl [AMIorsidl QUSSR or2dl Ul 6.

(1) 529 2) 27

3) 9 4) 18

Gsdl: 27 + 3 +6 x 5 =27

() 75 2) 15
(3) 39 @ 2

N

gl Ue2 HI2 UAeR 24 22 W2 ulgl ol Hl2R osug dly dl oAl sa seal
Hlex sug dlg?

(1) =l (2) 44l Al

(3) izl (4) Rl AR

SPACE FOR ROUGH WORK
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% 57. Soham was born on 15th June, 2011, which was Thursday. Which was the day

i on his 5th birthday?

TRk (1) Tuesday (2) Thursday
Xk (3) Wednesday (4) Friday

JEx%  58.  Find the percentage of the shaded portion in the following diagram.

1 2% 2) 25 %
3) 6% @ 75 %

59. Side of an equilateral triangle is 10 cm. A square of perimeter same as to the
perimeter of an equilateral triangle is drawn. What will be the side of the square?
(1) 30 cm (2) 8 cm
3) 7.5 cm (4) 10 cm

SPACE FOR ROUGH WORK
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57.  wieHedl ored 15 ogel 2011, 3AR Uul dl dedl wikHl orenfead sal AR 2997
(1)  Hamar (2)  23AR '

(3)  ©HaR 4)  wsqR OO

58.  wuglmi cafdal owild e 2sidldi (aduidni) el Tk

1 2% (2) 25 %
3) 6% @) 75 %

59. w5 wuueley [Asidl ooy 10 AHl 9. 21 Bsigedl uRMlA svedl uRREA 9194l
ARY el dl adl oley deal HHl ua?
(1) 30 =l 2) 8 wdl
(3) 7.5 =@l 4) 10 2l

SPACE FOR ROUGH WORK
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% Q. 60. and 61

Answer the following questions with the pictograph given below:

K G
DOOO (scale : 1 % = 25 students)
YoROROK

OO Types of Game Number of students

soex @ @ @
SO Football
7 7 7 G
o [ EEEE
e e
Basket ball % %
G G G 7 7 7
N ITIIT,
e e e
o |8 & &

60. How many times are Kabaddi players to the Basket ball players?
(1) 50 2 3
(3) 150 4 5

61. By how much is number of Cricket players and Basket ball players less than
number of football players and Kabaddi players?
() 75 (2) 50
(3) 25 4) 150

SPACE FOR ROUGH WORK

0401 / Gujarati Set-A 24 of 32 Contd...



< 5 ¥
U. 60 Bid 61 Hi2 YAl K

NN Y el ety

dld suddl Razw Hlddldar suaR ddl dlaqdl usia oo aial. SO0
(w1 % = 25 [aznelil) ko

™Al USIR [Qznel =va OO0

N TIT i
geolld L
G G G G G
ollzs2 ol % %
G G G G G G
w G &

60. soi3l WARL [Qzndll, olizse olid ™Al [@Qsndllidar sear 2o 97
(1) 50 2) 3
(3) 150 “4) 5

N

61. [s52 24 owde olid ARl [Audloiidl wva, 21 geolid 24 503l udRL
[Qerelotidl dval s2dl sedl i) 97
(I 75 (2) 50
(3) 25 4) 150

SPACE FOR ROUGH WORK

0401 / Gujarati Set-A 25 of 32 P.T.O.



64.

65.

How many times are the number of edges of cuboid to the number of surfaces

of cuboid?
(1) double (2) three times
(3) half (4) four times

In Nana Patil’s farm house, there are 300 sacks of grains. Out of which 35%
sacks are of wheat, 20% sacks are of Jowar, 15% sacks are of Tur dal and
remaining are the sacks of Soyabeans. Find the number of Soyabean sacks at
the farm house.

(1) 60 (2) 120

(3) 105 4 90

Find the length of wire required to fence 3 times the two sides of a square
shaped ground having area 144 sq. m.

(1) 48 m (2) 144 m

(3) 72m (4) 24 m

In the month of May, two and a quarter lakhs tourists visited Mahabaleshwar and
three quarter lakhs visited Ajanta - Verul caves. How many more tourists visited
Mahabaleshwar than Ajanta - Verul caves?

(1) 75,000 (2) 1,25,000

(3) 3,00,000 (4) 1,50,000
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: N A o . SN ~ N K
62. dotaddl ar ([aLl) <l 2dval, ddl yssidl dvaidl sedr 2l ¢lu 97 .»n

(1)  awell ) Al

(3) sl 4) ARl SO0

63. <l wZladl quiryi 300 2wl G 9. dui 20% 2RIl syardl, 35% ol aGdl  FEEE

N

v 15% 20l qardl 9 2d ousldl 2l @i ofladl 9. dl adl wa dielladl  EEER
sedl opllul 97

(1) 60 2) 120

(3) 105 4) 90

64. 144 ARA Hl22 dosaalon s ARUSA Heldd g5d ol ooyl si2d dRdl Qg
AQL il (1) HRAL HI2 524l dR oA ?
(1) 48 dl () 14.4 |
3) 72 4) 24 dl

65. H wledAMi ‘waAl ol A’ wisinl Helodardl Hasid dldl s wisrsl A3l
ysivlidl Ul @’ wd2sizl Hausld dlél. dl oledHi HelotdiaRedl Halsld ARl
wizsiedl zval el aur 97
(1) 75,000 (2) 125,000
(3)  3,00,000 4)  1,50,000
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i 66. 552 minutes = ....ccooen....... hours and ............... minutes.
- (1)y 9, 52 2) 5, 52

TEEE 3) 9, 12 @) 5,12

ook 67, 2400 papers = ..o Ream papers.

okokok (1) 100 2 75

ok (3) 50 4 5

68. Ramu purchased 45 litres milk with the rate Rs. 35 per litre. He sold all the
milk with profit Rs. 315. Find the selling price of milk per litre.
(1) Rs. 37 (2) Rs. 38
(3) Rs. 42 (4) Rs. 44

69. A wire measuring 15 m, 50 cm was divided equally into 10 parts. What is the
length of each part?
(1) 155 cm (2) 155 m
(3) 150 cm (4) 150 m

70.  Akash purchased a cycle for Rs. 3250 and sold it for Rs. 2375 after a year. Did
he make profit or loss and how much?
(1) Profit of Rs. 775 (2) Profit of Rs. 875
(3) Loss of Rs. 775 (4) Loss of Rs. 875

71.  If divisor = 105, Quotient = 4250, Remainder = 75, then dividend = ?
(1) 446250 (2) 446325
(3) 446225 (4) 446625

SPACE FOR ROUGH WORK

0401 / Gujarati Set-A 28 of 32 Contd...




66. 552 [ = 54ls Wlae OO0
(1) 9, 52 2) 5,52 TEEE

3) 9, 12 @) 5, 12 B

67. 2400 s Bed sedl KW s10? OO

(1) 100 2) 75 OO

(3) 50 4 5 HEROK

68. ¥yl 35 3. ula dlrdl R 45 dler g4 wele s oy g4 54 3. 315 gl add
ddl €14 dl gadl duadl eua ulddlez sedl ea?
(1) 37 3. 2) 38 3.
(3) 42 3. 4) 44 3.

69. 15 dl. 50 AHl Aioll dRdl 10 AHIA ML sl di €35 @Rl donsd dedl ¢a?
(1) 155 @l (2) 155 dl
(3) 150 =l 4) 150 +l

70. 3,250 3. Hi uiledl wiesd, s vis a2y ugl 2375 3.0 MDAl €ldl dl
UACRHL del gl =AUl 5 wie? Sedl 3a?
(1) sl 775 3. (2) sl 875 3.

(3) w2 775 3. 4) 2 875 3.

71.  ®svs = 105, @PRUsR = 4250, 94 = 75 €l dl Moy = ?
(1) 446250 (2) 446325
(3) 446225 (4) 446625
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74.

75.

What will be the cost of the cloth purchased at the rate Rs. 52 per meter for

25 students each requiring one and a half meter ?

(1) 1950 (2) 1850
(3) 2050 (4) 2150
Solve :

%-F%X% =7

- @ 4
G) 1o @ 17

Kerela express starts at 4 : 10 in the morning from Nagpur and reaches
Tiruvananthapuram at 14 : 15 the next day. How much time does it take to travel
from Nagpur to Tiruvananthapuram?

(1) 34 hours 5 minutes (2) 34 hours

(3) 22 hours 5 minutes (4) 26 hours 15 minutes

In Saraswati Vidyalay, 24 packets of milk having each 500ml of milk was bought
and was heated. It was distributed equally among 60 students. Find out how much
ml of milk was given to each student.

(1) 250 ml (2) 150 ml

(3) 200 ml 4) 175 ml
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72.

73.

74.

75.

-~

25 [Q2neldl 9 2d €25 W2 ez |l ungl ulasler 5230 4l € sius wile

c

s, dlosa v sedl 3(uuL =ul?

(1) 1950 (2) 1850
(3) 2050 (4) 2150
G5l

%-F%X% =7

- @
G 1, @ 1

aciyal wigld 4:10 sl 92dl R wsisuiy’ ofloa [Ead 14:15 <l [ARaddyy
el 9 dl Apyrdl [Raddyzd uckRidl s2dl uHd qudl?

(1) 34 sas 5 [« (2) 34 sdls

(3) 22 sais 5 [« 4) 26 sdis 15 [«

wradl [Bznauni 500 Mdldlerdl 2is »idl 24 siaol g4 2uey. of g4 Ry
s 60 [Azndlolid wvl @l ad2y dl ks [Qzueld soq g4 wey?

(1) 250 [wdl (2) 150 [wal

(3) 200 [wdl 4) 175 w4l
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